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EXERCISES 

Sections 7.1 and 5.3 – 5.5  
 
 
Find each integral: 
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Evaluate: 
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33) Solve the initial value problem: ( ) ( )
2

2
2 sec , 0 0, 0 1

d y
x y y
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′= = = . 

34) Solve the initial value problem: ( ) ( )3212 3 1 , 1 3
ds

t t s
dt

= − =  

 
35) Find the area of the shaded region. 
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36) Suppose that g is a differentiable function shown in the graph and that the position at time t ( sec) of a particle 

moving along a coordinate axis is ( )
0

t

s g x dx= ∫ . Use the graph to answer the following questions. Give reasons for 

your answers. 
 a) find the velocity at time t=3. 
 b) Is the acceleration positive, negative, or zero at time t=3? 
 c) What is the particle’s position at time t=3? 
 d) When does the particle pass through the origin? 
 e) When is the acceleration zero? 
 f) When is the particle moving away from the origin? 
 g) On which side of the origin does the particle lie at t=9? 
 
 
 
37) Find the area between the x-axis and one arch of sin , 0y kx k= >  
 

38) Find .
2
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1
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1

x

x

t
dt
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39) If ( )
0

cos
x

f t dt x π=∫ , find ( )4f . 

 

40) Find the area between the graph of ( ) [ ]2 4 3, 0,3f x x x x= − + ∈  and the x-axis. 
 

41) Find the area between the graph of ( ) [ ]
2
35 5 , 1,8f x x x= − ∈ −  and the x-axis. 
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Answers: 

27) 
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